
Subtraction	
  Non-­‐Decade	
  Non-­‐Decade	
  

Three-­‐In-­‐A-­‐Row	
  

89	
   68	
  
76	
   99	
  

-­‐34	
   -­‐52	
  
-­‐61	
   -­‐44	
  

55	
   34	
   43	
   65	
  

34	
   24	
   15	
   47	
  

16	
   42	
   32	
   55	
  

24	
   7	
   65	
   38	
  
Number	
  of	
  Players:	
  2	
  
Materials:	
  gameboard,	
  game	
  pieces	
  (ex:	
  different	
  colored	
  paper)	
  
Play:	
  Each	
  player	
  takes	
  a	
  turn	
  choosing	
  a	
  number	
  from	
  each	
  small	
  
square.	
  Subtract	
  the	
  number	
  on	
  the	
  right	
  from	
  the	
  number	
  on	
  the	
  left.	
  
Find	
  the	
  difference	
  in	
  the	
  large	
  square	
  and	
  cover	
  it.	
  If	
  the	
  number	
  is	
  
already	
  covered,	
  the	
  player	
  loses	
  a	
  turn.	
  The	
  Jirst	
  player	
  to	
  get	
  three	
  
markers	
  in	
  a	
  row-­‐	
  vertically,	
  horizontally,	
  or	
  diagonally	
  is	
  the	
  winner.	
  	
  


